



An extended differential form of Hilbert's inequality



Nizar Kh. Al-Oushoush

Department of Mathematics, Faculty of Science, Al-Balqa' Applied University, 19117 Al Salt, Jordan

ARTICLE INFO

Article history:

Received 15 February 2017

Accepted 11 April 2017

Available online 18 April 2017

2000 Mathematics Subject Classification:
26D15

Keywords and phrases:

Hilbert's integral inequality

Hölder inequality

Hardy inequality

ABSTRACT

In this paper we introduce the extension of the differential form of Helbert's integral inequality, and the reverse form of it.

© 2017 The Author. Production and hosting by Elsevier B.V. on behalf of King Saud University. This is an open access article under the CC BY-NC-ND license (<http://creativecommons.org/licenses/by-nc-nd/4.0/>).

1. Introduction

The classical Hardy-Hilbert inequality for positive functions f, g and two conjugate parameters p and q such that $p > 1, \frac{1}{p} + \frac{1}{q} = 1$ is given as Hardy et al. (1952)

$$\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{x+y} dx dy < \frac{\pi}{\sin\left(\frac{\pi}{p}\right)} \left\{ \int_0^\infty f^p(x) dx \right\}^{\frac{1}{p}} \left\{ \int_0^\infty g^q(x) dx \right\}^{\frac{1}{q}} \quad (1.1)$$

provided that the integrals on the right-hand side are convergent. The constant $\frac{\pi}{\sin\left(\frac{\pi}{p}\right)}$ is the best possible, in the sense that it cannot be decreased any more. Inequality (1.1) has several applications in mathematical analysis. There are many extensions of inequality (1.1), see for example the results in Hardy et al. (1952), Azar (2011), Yang et al. (2003), Yang (1991) and Mitrinović et al. (1991). A best extension of (1.1) was given in Krnic et al. (2005) as

$$\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{(x+y)^\lambda} dx dy < B(1 - pA_2, \lambda + pA_2 - 1) \left\{ \int_0^\infty x^{p(A_2-1)} f^p(x) dx \right\}^{\frac{1}{p}} \left\{ \int_0^\infty y^{p(A_2-1)} g^q(y) dy \right\}^{\frac{1}{q}}, \quad (1.2)$$

where $B(1 - pA_2, \lambda + pA_2 - 1)$ is the best possible constants ($B(u, v)$ is the beta function), $\lambda > 0, A_1 \in \left(\frac{1-\lambda}{q}, \frac{1}{q}\right), A_2 \in \left(\frac{1-\lambda}{p}, \frac{1}{p}\right)$ and $pA_2 + qA_1 = 2 - \lambda$. For $0 < p < 1, \frac{1}{p} + \frac{1}{q} = 1, \lambda > 0, A_1 \in \left(\frac{1}{q}, \frac{1-\lambda}{q}\right), A_2 \in \left(\frac{1-\lambda}{p}, \frac{1}{p}\right)$ and $pA_2 + qA_1 = 2 - \lambda$ the reverse form of (1.2) is also valid. Recently, in Azar et al. (2014) a differential form of the Hilbert's inequality was obtained, namely

$$\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{(x+y)^\lambda} dx dy \leq C \left(\int_0^\infty x^{p(n+1)-\lambda-1} (f^{(n)}(x))^p dx \right)^{\frac{1}{p}} \times \left(\int_0^\infty y^{q(n+1)-\lambda-1} (g^{(n)}(y))^q dy \right)^{\frac{1}{q}} \quad (1.3)$$

where the constant $C = \frac{\Gamma\left(\frac{p}{q}-n\right)\Gamma\left(\frac{q}{p}-n\right)}{\Gamma(\lambda)}$ is the best possible. Here, $\Gamma(u)$ is the gamma function, $\lambda > 0, n = 0, 1, \dots$. Note that if we let $n = 0, \lambda = 1$, and $p = q = 2$ we obtain the famous Hilbert's inequality. Therefore, one may consider inequality (1.3) as an extension of the Hilbert's inequality.

In this paper by introducing some parameters we obtain an extension to inequality (1.3) and the reverse form of it. The given inequalities as we will see are extensions of (1.2).

2. Preliminaries and Lemmas

We will frequently use the gamma and beta functions which are defined respectively as

$$\Gamma(\theta) = \int_0^\infty t^{\theta-1} e^{-t} dt, \quad \theta > 0, \quad (2.1)$$

E-mail addresses: aloushoush@bau.edu.jo, nizar988@yahoo.com
Peer review under responsibility of King Saud University.



Production and hosting by Elsevier

<http://dx.doi.org/10.1016/j.jksus.2017.04.005>

1018-3647/© 2017 The Author. Production and hosting by Elsevier B.V. on behalf of King Saud University. This is an open access article under the CC BY-NC-ND license (<http://creativecommons.org/licenses/by-nc-nd/4.0/>).

$$B(\mu, \nu) = \int_0^\infty \frac{t^{\mu-1}}{(t+1)^{\mu+\nu}} dt, \quad \mu, \nu > 0 \tag{2.2}$$

The technique of proving the main results is based on the following relation

$$\frac{1}{(x+y)^\lambda} = \frac{1}{\Gamma(\lambda)} \int_0^\infty t^{\lambda-1} e^{-(x+y)t} dt. \tag{2.3}$$

The next two lemmas are also important tools for the proofs of the main results:

Lemma 2.1 (see Azar et al., 2014, Lemma 2.2). Let $r > 1, \frac{1}{r} + \frac{1}{s} = 1, \varphi(x) > 0$, the derivatives $\varphi', \varphi'', \dots, \varphi^{(n)}$ exists and positive and $\varphi^{(n)} \in L(0, \infty), (n = 0, 1, 2, \dots), (\varphi^{(0)} := \varphi)$, where L^p denotes the space of all Lebesgue integrable functions (If $p = 1$ we obtain L), Moreover, suppose that $\varphi(0) = \varphi'(0) = \varphi''(0) = \dots = \varphi^{(n-1)}(0) = 0$, then for $t, \alpha > 0$ we have

$$\int_0^\infty e^{-t\alpha} \varphi(x) dx \leq t^{-n-\frac{1}{s}-\alpha} \Gamma(\alpha s + 1)^{\frac{1}{s}} \left(\int_0^\infty x^{-\alpha r} e^{-t\alpha} (\varphi^{(n)}(x))^r dx \right)^{\frac{1}{r}}. \tag{2.4}$$

Lemma 2.2. Let $0 < r < 1, \frac{1}{r} + \frac{1}{s} = 1$, Let φ be as in Lemma 2.2, then for $t > 0$ and $\beta \in \mathbb{R} (\beta s + 1 > 0)$, we get

$$\int_0^\infty e^{-t\alpha} \varphi(x) dx \geq t^{-n-\frac{1}{s}-\beta} \Gamma(\beta s + 1)^{\frac{1}{s}} \left(\int_0^\infty x^{-\beta r} e^{-t\alpha} (\varphi^{(n)}(x))^r dx \right)^{\frac{1}{r}}. \tag{2.5}$$

Proof. Using integration by parts n times, we get

$$\int_0^\infty e^{-t\alpha} \varphi(x) dx = \frac{1}{t^n} \int_0^\infty e^{-t\alpha} \varphi^{(n)}(x) dx.$$

Applying reverse Hölder inequality, then use (2.1), we obtain

$$\begin{aligned} \int_0^\infty e^{-t\alpha} \varphi(x) dx &= \frac{1}{t^n} \int_0^\infty (x^\beta e^{-\frac{\alpha x}{s}}) (x^{-\beta} e^{-\frac{\alpha x}{r}} \varphi^{(n)}(x)) dx \\ &\geq \frac{1}{t^n} \left(\int_0^\infty x^{\beta s} e^{-\alpha x} dx \right)^{\frac{1}{s}} \left(\int_0^\infty x^{-\beta r} e^{-\alpha x} ((\varphi^{(n)}(x))^r dx \right)^{\frac{1}{r}} \\ &= \frac{1}{t^n} \left(\frac{1}{t^{\beta s + 1}} \Gamma(\beta s + 1) \right)^{\frac{1}{s}} \left(\int_0^\infty x^{-\beta r} e^{-\alpha x} ((\varphi^{(n)}(x))^r dx \right)^{\frac{1}{r}} \end{aligned}$$

this leads to (2.5). \square

3. Main results

In this section, we give the main two inequalities of this paper, the first one is an extension of (1.3), and the second one is the reverse form.

Theorem 3.1. Let $p > 1, \frac{1}{p} + \frac{1}{q} = 1, f(x), g(y) > 0, \lambda > 2n, \gamma \in (n - \frac{\lambda}{p}, \frac{\lambda}{q} - n), n = 0, 1, \dots$ and $f(x), g(y)$ satisfies the conditions of Lemma 2.1 such that

$$\begin{aligned} \int_0^\infty x^{p(n+1)-p\gamma-\lambda-1} (f^{(n)}(x))^p dx < \infty, \\ \int_0^\infty y^{q(n+1)+q\gamma-\lambda-1} (g^{(n)}(y))^q dy < \infty, \text{ then:} \\ \int_0^\infty \int_0^\infty \frac{f(x)g(y)}{(x+y)^\lambda} dx dy \leq C \left(\int_0^\infty x^{p(n+1)-p\gamma-\lambda-1} (f^{(n)}(x))^p dx \right)^{\frac{1}{p}} \\ \left(\int_0^\infty y^{q(n+1)+q\gamma-\lambda-1} (g^{(n)}(y))^q dy \right)^{\frac{1}{q}}, \tag{3.1} \end{aligned}$$

where $C = \frac{\Gamma(\frac{\lambda}{p} + \gamma - n) \Gamma(\frac{\lambda}{q} - \gamma - n)}{\Gamma(\lambda)}$ is the best possible constant.

Proof. If we use the relation (2.3) and apply the Hölder's inequality, we obtain

$$\begin{aligned} I &:= \int_0^\infty \int_0^\infty \frac{f(x)g(y)}{(x+y)^\lambda} dx dy \\ &= \frac{1}{\Gamma(\lambda)} \int_0^\infty \int_0^\infty f(x)g(y) \left(\int_0^\infty t^{\lambda-1} e^{-(x+y)t} dt \right) dx dy = \frac{1}{\Gamma(\lambda)} \\ &\quad \times \int_0^\infty \left(t^{\frac{\lambda-1}{p} + \gamma} \int_0^\infty e^{-tx} f(x) dx \right) \left(t^{\frac{\lambda-1}{q} - \gamma} \int_0^\infty e^{-ty} g(y) dy \right) dt \\ &\leq \frac{1}{\Gamma(\lambda)} \left(\int_0^\infty t^{\lambda-1+p\gamma} \left(\int_0^\infty e^{-tx} f(x) dx \right)^p dt \right)^{\frac{1}{p}} \\ &\quad \times \left(\int_0^\infty t^{\lambda-1-q\gamma} \left(\int_0^\infty e^{-ty} g(y) dy \right)^q dt \right)^{\frac{1}{q}} \tag{3.2} \end{aligned}$$

Using Lemma 2.2 for $r = p, s = q, \alpha = \alpha_1$, and then for $r = q, s = p, \alpha = \alpha_2$ we obtain respectively,

$$\begin{aligned} \left(\int_0^\infty e^{-t\alpha} f(x) dx \right)^p &\leq t^{-np-\alpha_1 p-p+1} \Gamma(\alpha_1 q + 1)^{\frac{p}{q}} \\ &\quad \times \int_0^\infty x^{-\alpha_1 p} e^{-t\alpha} (f^{(n)}(x))^p dx \end{aligned}$$

and

$$\begin{aligned} \left(\int_0^\infty e^{-t\alpha} g(y) dy \right)^q &\leq t^{-nq-\alpha_2 q-q+1} \Gamma(\alpha_2 p + 1)^{\frac{q}{p}} \\ &\quad \times \int_0^\infty y^{-\alpha_2 q} e^{-t\alpha} (g^{(n)}(y))^q dy \end{aligned}$$

If we substitute these two inequalities in (3.2) we get

$$\begin{aligned} I &\leq \frac{\Gamma(\alpha_1 q + 1)^{\frac{1}{q}} \Gamma(\alpha_2 p + 1)^{\frac{1}{p}}}{\Gamma(\lambda)} \left(\int_0^\infty x^{-\alpha_1 p} (f^{(n)}(x))^p \left(\int_0^\infty t^{\lambda+p(\gamma-n-\alpha_1-1)} e^{-t\alpha} dt \right) dx \right)^{\frac{1}{p}} \\ &\quad \times \left(\int_0^\infty t^{-\alpha_2 q} (g^{(n)}(y))^q \left(\int_0^\infty t^{\lambda-q(\gamma+n+\alpha_2+1)} e^{-t\alpha} dt \right) dy \right)^{\frac{1}{q}} \\ &= C_1 \left(\int_0^\infty x^{p(n+1)-p\gamma-\lambda-1} (f^{(n)}(x))^p dx \right)^{\frac{1}{p}} \left(\int_0^\infty y^{q(n+1)+q\gamma-\lambda-1} (g^{(n)}(y))^q dy \right)^{\frac{1}{q}}, \end{aligned}$$

where $C_1 = \frac{\Gamma(\alpha_1 q + 1)^{\frac{1}{q}} \Gamma(\alpha_2 p + 1)^{\frac{1}{p}} \Gamma(\lambda + p(\gamma - n - \alpha_1 - 1) + 1)^{\frac{1}{p}} \Gamma(\lambda - q(\gamma + n + \alpha_2 + 1) + 1)^{\frac{1}{q}}}{\Gamma(\lambda)}$. Now, let

$\alpha_1 = \frac{\lambda + p(\gamma - n - 1)}{pq}$ and $\alpha_2 = \frac{\lambda - q(\gamma + n + 1)}{pq}$, we obtain

$$C_1 = C = \frac{\Gamma(\frac{\lambda}{p} + \gamma - n) \Gamma(\frac{\lambda}{q} - \gamma - n)}{\Gamma(\lambda)}. \text{ Hence, Inequality (3.1) is proved. It}$$

remains to show that the constant C is the best possible. To do that we define two functions:

$$f_\varepsilon(x) = \begin{cases} 0, & 0 < x < 1 \\ \frac{\Gamma(\frac{\lambda + q\gamma - \varepsilon}{p} - n)}{\Gamma(\frac{\lambda + p\gamma - \varepsilon}{p})} x^{\frac{\lambda + p\gamma - \varepsilon}{p} - 1}, & x \geq 1 \end{cases}$$

and

$$g_\varepsilon(y) = \begin{cases} 0, & 0 < y < 1 \\ \frac{\Gamma(\frac{\lambda - q\gamma - \varepsilon}{q} - n)}{\Gamma(\frac{\lambda - p\gamma - \varepsilon}{q})} y^{\frac{\lambda - q\gamma - \varepsilon}{q} - 1}, & y \geq 1 \end{cases},$$

where $0 < \varepsilon < \min\{\lambda - q(\gamma + n), \lambda + p(\gamma - n)\}$. Thus, we find

$$f_\varepsilon^{(n)}(x) = x^{\frac{\lambda + p\gamma - \varepsilon}{p} - n - 1}, x > 1, \text{ and } g_\varepsilon^{(n)}(y) = y^{\frac{\lambda - q\gamma - \varepsilon}{q} - n - 1}, y > 1.$$

Suppose that $C = \frac{\Gamma(\frac{\lambda}{p} + \gamma - n) \Gamma(\frac{\lambda}{q} - \gamma - n)}{\Gamma(\lambda)}$ is not the best possible, then there exist $0 < k < C$ such that

$$\int_0^\infty \int_0^\infty \frac{f_\varepsilon(x)g_\varepsilon(y)}{(x+y)^\lambda} dx dy < k \left(\int_0^\infty x^{p(n+1)-p\gamma-\lambda-1} (f_\varepsilon^{(n)}(x))^p dx \right)^{\frac{1}{p}} \times \left(\int_0^\infty y^{q(n+1)+q\gamma-\lambda-1} (g_\varepsilon^{(n)}(y))^q dy \right)^{\frac{1}{q}} = \frac{k}{\varepsilon} \tag{3.3}$$

On the other hand, we obtain (the constant

$$D = \frac{\Gamma(\frac{\lambda+p\gamma-\varepsilon}{p}-n)\Gamma(\frac{\lambda-q\gamma-\varepsilon}{q}-n)}{\Gamma(\frac{\lambda+p\gamma-\varepsilon}{p})\Gamma(\frac{\lambda-q\gamma-\varepsilon}{q})}$$

$$\begin{aligned} I &= D \int_1^\infty \int_1^\infty \frac{x^{\frac{\lambda+p\gamma-\varepsilon}{p}-1} y^{\frac{\lambda-q\gamma-\varepsilon}{q}-1}}{(x+y)^\lambda} dx dy \\ &= D \int_1^\infty x^{-\varepsilon-1} \int_{\frac{1}{x}}^\infty \frac{u^{\frac{\lambda-q\gamma-\varepsilon}{q}-1}}{(u+1)^\lambda} du dx \\ &= D \left[\int_1^\infty x^{-\varepsilon-1} \left\{ \int_0^\infty \frac{u^{\frac{\lambda-q\gamma-\varepsilon}{q}-1}}{(u+1)^\lambda} du - \int_0^{\frac{1}{x}} \frac{u^{\frac{\lambda-q\gamma-\varepsilon}{q}-1}}{(u+1)^\lambda} du \right\} dx \right] \\ &= D \left[\frac{\beta(\frac{\lambda-q\gamma-\varepsilon}{q}, \frac{\lambda}{p} + \gamma + \frac{\varepsilon}{q})}{\varepsilon} - \int_1^\infty x^{-\varepsilon-1} \int_0^{\frac{1}{x}} \frac{u^{\frac{\lambda-q\gamma-\varepsilon}{q}-1}}{(u+1)^\lambda} du dx \right] \\ &> D \left[\frac{\beta(\frac{\lambda-q\gamma-\varepsilon}{q}, \frac{\lambda}{p} + \gamma + \frac{\varepsilon}{q})}{\varepsilon} - \int_1^\infty x^{-\varepsilon-1} \int_0^{\frac{1}{x}} u^{\frac{\lambda-q\gamma-\varepsilon}{q}-1} du dx \right] \\ &= D \left[\beta(\frac{\lambda}{q} - \gamma - \frac{\varepsilon}{q}, \frac{\lambda}{p} + \gamma + \frac{\varepsilon}{q}) - O(1) \right] \end{aligned} \tag{3.4}$$

If we consider (3.3), (3.4) and the relation between the Beta and Gamma functions $B(u, v) = \frac{\Gamma(u)\Gamma(v)}{\Gamma(u+v)}$ and let $\varepsilon \rightarrow 0^+$, we get

$$\begin{aligned} k &\geq \frac{\Gamma(\frac{\lambda+p\gamma}{p}-n)\Gamma(\frac{\lambda-q\gamma}{q}-n)}{\Gamma(\frac{\lambda}{p}+\gamma)\Gamma(\frac{\lambda}{q}-\gamma)} \beta\left(\frac{\lambda}{q}-\gamma, \frac{\lambda}{p}+\gamma\right) \\ &= \frac{\Gamma(\frac{\lambda+p\gamma}{p}-n)\Gamma(\frac{\lambda-q\gamma}{q}-n)}{\Gamma(\lambda)}, \end{aligned}$$

which is in contradiction with our assumption. The theorem is proved. \square

Theorem 3.2. If $f, g > 0, 0 < p < 1, \frac{1}{p} + \frac{1}{q} = 1, \lambda > 2n, \gamma \in (n - \frac{\lambda}{p}, \frac{\lambda}{q} - n), n = 0, 1, \dots$ and f, g satisfies the conditions of Lemma 2.1 such that $\int_0^\infty x^{p(n+1)-p\gamma-\lambda-1} (f^{(n)}(x))^p dx < \infty$, and $\int_0^\infty y^{q(n+1)+q\gamma-\lambda-1} (g^{(n)}(y))^q dy < \infty$, then we have the reverse form of (3.1) as

$$\begin{aligned} I &\geq C \left(\int_0^\infty x^{p(n+1)-p\gamma-\lambda-1} (f^{(n)}(x))^p dx \right)^{\frac{1}{p}} \\ &\quad \times \left(\int_0^\infty y^{q(n+1)+q\gamma-\lambda-1} (g^{(n)}(y))^q dy \right)^{\frac{1}{q}}, \end{aligned} \tag{3.5}$$

where C as in Theorem 3.1 is the best possible constant.

Proof. Using (2.3) and the reverse Hölder inequality, we have

$$\begin{aligned} I &= \frac{1}{\Gamma(\lambda)} \int_0^\infty \left(t^{\frac{\lambda-1}{p}+\gamma} \int_0^\infty e^{-tx} f(x) dx \right) \left(t^{\frac{\lambda-1}{q}-\gamma} \int_0^\infty e^{-ty} g(y) dy \right) dt \\ &\geq \frac{1}{\Gamma(\lambda)} \left(\int_0^\infty t^{\lambda-1+p\gamma} \left(\int_0^\infty e^{-tx} f(x) dx \right)^p dt \right)^{\frac{1}{p}} \\ &\quad \times \left(\int_0^\infty t^{\lambda-1-q\gamma} \left(\int_0^\infty e^{-ty} g(y) dy \right)^q dt \right)^{\frac{1}{q}} \end{aligned} \tag{3.6}$$

If we use Lemma 2.2 for $r = p, s = q, \beta = \beta_1$ and then for $r = q, s = p, \beta = \beta_2$ respectively, we find

$$\left(\int_0^\infty e^{-tx} f(x) dx \right)^p \geq t^{-np-\frac{p}{q}-\beta_1 p} \Gamma(\beta_1 q + 1) \int_0^\infty x^{-\beta_1 p} e^{-tx} (f^{(n)}(x))^p dx,$$

and

$$\left(\int_0^\infty e^{-ty} g(y) dy \right)^q \geq t^{-nq-\frac{q}{p}-\beta_2 q} \Gamma(\beta_2 q + 1) \int_0^\infty y^{-\beta_2 q} e^{-ty} (g^{(n)}(y))^q dy.$$

If we substitute the last two inequalities in (3.6) and make some computations and then letting: $\beta_1 = \frac{\lambda+p(\gamma-n-1)}{pq}$ and $\beta_2 = \frac{\lambda-q(\gamma+n+1)}{pq}$ we arrive at inequality (3.5). To prove that the constant is the best possible, we define $f_\varepsilon(x)$ and $g_\varepsilon(y)$ as in the proof of Theorem 3.1. If C is not the best possible one, then there is a positive number $k \geq C$ such that (3.6) is still valid as we replace C by k , then

$$\int_0^\infty \int_0^\infty \frac{f_\varepsilon(x)g_\varepsilon(y)}{(x+y)^\lambda} dx dy > \frac{k}{\varepsilon}. \tag{3.7}$$

On the other hand, we find

$$\begin{aligned} \int_0^\infty \int_0^\infty \frac{f_\varepsilon(x)g_\varepsilon(y)}{(x+y)^\lambda} dx dy &= D \int_1^\infty \int_1^\infty \frac{x^{\frac{\lambda+p\gamma-\varepsilon}{p}-1} y^{\frac{\lambda-q\gamma-\varepsilon}{q}-1}}{(x+y)^\lambda} dx dy \\ &= D \int_1^\infty x^{-1-\varepsilon} \int_{\frac{1}{x}}^\infty \frac{u^{\frac{\lambda-q\gamma-\varepsilon}{q}-1}}{(u+1)^\lambda} du dx \\ &< D \int_1^\infty x^{-1-\varepsilon} dx \int_0^\infty \frac{u^{\frac{\lambda-q\gamma-\varepsilon}{q}-1}}{(u+1)^\lambda} du \\ &= D \beta\left(\frac{\lambda}{p} + \gamma + \frac{\varepsilon}{q}, \frac{\lambda}{q} - \gamma - \frac{\varepsilon}{q}\right). \end{aligned} \tag{3.8}$$

If we let $\varepsilon \rightarrow 0^+$, from (3.7) to (3.8) we find $k \geq C$. the theorem is proved. \square

Remark 3.3. If we put $n = 0$ in (3.1) we get

$$\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{(x+y)^\lambda} dx dy \leq C \left(\int_0^\infty x^{p-p\gamma-\lambda-1} f^p(x) dx \right)^{\frac{1}{p}} \left(\int_0^\infty y^{q+q\gamma-\lambda-1} g^q(y) dy \right)^{\frac{1}{q}}. \tag{3.9}$$

Note that if we set in (3.9) $\gamma = \frac{p-\lambda-pqA_1}{p} \left(-\frac{\lambda}{p} < \gamma < \frac{\lambda}{q} \right)$ under the condition $pA_2 + qA_1 = 2 - \lambda$ we obtain inequality (1.2) from the introduction. Similarly, we may obtain the reverse form of (1.2) from (3.5).

References

Hardy, G.H., Littlewood, J.E., Polya, G., 1952. Inequalities. Cambridge Univ. Press, London.
 Azar, L.E., 2011. Some Extensions of Hilbert's integral inequality. J. Math. Ineq 5 (1), 131–140.
 Yang, B., Rassias, T.M., 2003. On the way of weight coefficients and research for the Hilbert-type inequalities. Math. Inequal. Appl. 6, 625–658.
 Yang, B., 1991. The Norm of Operator and Hilbert-Type Inequalities. Science press, Beijing, China.
 Mitrinovic, D.S., Pecaric, J.E., Fink, A.M., 1991. Inequalities Involving Functions and Their Integrals and Derivatives. Kluwer Academic Publishers.
 Krnić, Mario, Mingzhe, Gao, Pečarić, Josip, Xuemei, Gao, 2005. On the best constant in Hilbert's inequality. Math. Ineq. Appl. V8 (2), 317–329.
 Azar, L.E., 2014. Two new forms of Hilbert integral inequality. Math. Inequal. Appl 17 (3), 937–946.